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-12/625
-12.625= (-1100.1010) y= (-1.100101x2%),
0xC14A0000 = 1100 0001 0100 1010 0000 0000 0000 0000
1088.125
(1088.125)10=(10001000000.001),=(1.0001000000001 x2"%),

0x44880400 = 01000100 10001000 00000100 00000000

274.225
(274.225)10=(100010010.0011100110011),=(1.000100100011100110011x2%),

0x43891CCD = 01000011 10001001 00011100 11001101

379.762
(274.225)10=(101111011.110000110001001),=(1.01111011110000110001001x 2%),

0x43BDE189 = 01000011 10111101 11100001 10001001

-214.738
(-214.738)10=(-11010110.101111001110),=(-1.1010110101111001110x2"),,

0xC356BCEE = 11000011 01010110 10111100 11101110

-64.625
(-64.625)10=(-1000000.101),=(-1.000000101 x 2°),
0xC2814000 = 11000010 10000001 01000000 00000000
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C050100000000000
0xC050100000000000=1 1000000 01010000 00010000 00000000 00000000 00000000 00000000 00000000
= (-64.2500) 4

ABC0110110100000

0xABC0110110100000=1 0101011 11000000 00010001 0000000100010000 00010000 00000000 00000000
= (-5.8763x10%) 4
EC111BA011010000
0XEC111BA011010000=11101100 00010001 00011011 10100000 00010001 00000001 00000000 00000000
= (-3.5995x10%?),

01AE1001

0x01AE1001=00000001 10101110 00010000 00000001= (6.3940x10%) 4
ABCDEF11

OxABCDEF11=10101011 11001101 11101111 00010001= (-1.4632x10"%) 4
0011EFOO0

0x0011EF00=00000000 00010001 11101111 00000000=(1.6469x10%),
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AABCDEFF
(AABCDEFF)igge7s54= (-0.0896BC)15
10000000
(10000000) teee754= (0)16



